H £ 0l & AF & S

Al A

AEAS
AH2SIHI(MEASD)
=34l EERE)
M- B SRASH) - HRAR - B2 of v e HIDE2
S 17,175,736 17,215,404 39,668
= 4,083,287
[ 700,000
= 4,637,103
Al 7,755,346
AF2LIHI(MF LS 81,605 43,052 38,553
J1I=288l 81,605 43,052 38,553
JI=23Hl 81,605 43,052 38,553
201 Ler23 | 28,913 25,360 3,553
01 At2t2ltl 8,518 7,585 933
Ogit=3ZH| 2,590
—JlZ2 AR ESHI 30,0003 %19 570
—gRFd &M 7Y 20,0002 52 100
—424d 25 7Y 60,0002« 12& 720
—A7 2 =48] 50,000 * 122 600
—MEAss 10,0002 x5+ 123 600
o=l 5,928
—J|2gR=d S|
8,00021 198 »304 5,928
2 35244l 20,3% 17,775 2,620
O=32=  HAl 5,995
—TISa MESE dlg
50,0002 128 600
—NSIUHM(AESE, S+EHIE)
82,000+5CH 410
—NSxt BAL =2 67,000%52] 335
—AUSi #ENERES
33,000+5CH 23] 330
—AEETAAE2E &2
40,000+ 123 480
—S&Z HRE0D § &=
250,000 * 122 3,000
—SdiZ A &z
70,0002 122 840
OXtg - dei 14,400
—SEXE U=l 450,000+ 123 5,400
—3ENE REUH(AESE, SN
) 1,800%25, 000K 10%+2CH 9,000
202 04l 12,392 12,392
01 =LHAHI 10,352 10,352
OJlz2ge=d =L 10,352,000& 10,352
02 A0 2,040 2,040 0
O=dd A0l 170,000&~1~12& 2,040
203 =] 4,100 4,100 0




SR AR
M aye
=

=9l Jl=3l EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 500 500 0
OLEAIM g2 =& 500,000 500
MU A2 LRFAI 3,600 3,600 0
ORANEgg =AY 300,000 x 122 3,600
204 MR AH| 1,200 1,200
01 MM SR 1,200 1,200
ouns 100,000& <1122 1,200
405 KHakE SH 35,000 0 35,000
01 AL =S F = 35,000 0 35,000
O3Sitg UH bl 35,000,000 35,000
R S4 7,251,051 6,864,178 386,873
= 1,423,978
= 2,475,685
Al 3,351,388
BAETHES 1,592,585 2,049,371 N\456,786
= 746,044
S 235,747
Al 610,794
SN2 245,808 222,783 23,025
= 101,808
[ 32,400
Al 111,600
401 AlEHIZ SO 245,808 222,783 23,025
= 101,808
s 32,400
Al 111,600
01 AlZ8| 228,808 203,600 25,208
OZNE =4 (50ha) 228,808,000 228,808
= 94,767
= 30,159
Al 103,882
02 2/l 16,000 18,300 22,300
O=g Zcldl 16,000,000 16,000
= 6,627
S 2,109
Al 7,264
03 Al 20HHI 1,000 883 17
OAlE 20HHI 1,000,000 1,000
= 414
= 132
Al 454
ZURXE 30,265 62,785 A32,520
= 140




SH: ARAST
M NRITE 84
el BASESE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,037
Al 21,088
401 Al HIZL 01| 30,265 62,785 A32,520
= 140
== 9,037
Al 21,088
01 Al&H| 27,765 62,785 235,020
O2uR3 =g (5ha) 27,765,000 27,765
= 128
=S 8,291
Al 19,346
02 2/l 2,500 0 2,500
O2ULR3dxd Zaltl 2,500,000 2,500
= 12
=S 746
Al 1,742
KNS St 28 1,252,608 1,685,901 433,293
= 626,304
=S 187,89%
Al 438,400
401 AIEHIZ SR THYI 1,252,608 1,685,901 A433,293
= 626,304
= 187,89%
Al 438,409
01 A28l 1,229,108 1,660,309 A431,201
SWESIE =4 1,025,000,0002 1,025,000
2 512,500
= 153,750
Al 368,750
Oogd+g xd 204, 108,000& 204,108
= 102,054
= 30,620
Al 71,434
02 Zeltl 22,000 21,176 824
OsHESE Zel 18,000,000 18,000
= 9,000
= 2,700
Al 6,300
ogasgxd &¢al 4,000,000 4,000
= 2,000
= 600
Al 1,400
03 Al 2 THHI 1,500 4,416 A2,916




of
i’
oF
uJ

-

KIO

Hlw

4,542

15,200

15,200

210,678

10,678

A2,025
A1,425
AN625

MEE
Ofl &k2h

31,042

1,672

1,672

29,370

29,370

20,345

1,945
1,145

Ofl &F2H

1,500

750
225

o

525

35,584

17,792

3,558

14,234

i

Iy

Al

1,692

846
169

U

677
1,692
1,692

846
169

U

677

15,200
7,600

fir

1,520
6,080
15,200
15,200
7,600

H

Al

fir

1,520
6,080

18,692

9,346

H

Al

fir

1,869
7,477
18,692

H

Al

18,692

9,346

fir

1,869
7,477
18,320

iy

Al

520
520
520
360

160

- ESS

- SRA(E) - HIRAY

S - B

1,500,000&

.

Al
A0
R0
o
<k

or

01 AtS2t2ltl

1,692,000

-

=l
~J
ol
K0
0.

i

o
<0
I

t

14 J|1Et

15,200,000

=01

F

~J
oJ

402

18,692,000

=gl

t

SH
=)

03

) M=

60,000+60H

o

5,000%327H




SH: ARAST
M NRITE 84
el BASESE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 Tl 16,200 16,200
IEET 16,200 16,200
OUSU=0IF)| #A 22 e
5,000~1,000=2 5,000
OA=2g AL B #8 12,000%7002 8,400
O== X=0 7 4,000%700% 2,800
301 LELE NS 1,600 2,200 A600
11 dALEEIXIZE S 1,600 2,200 2600
Oalsd & =)D MEdAL ZAK 24
8,000%200H 1,600
BtAEIE2 M &M AFH X2 10,000 20,000 10,000
S 2,857
Al 7,143
402 2I2F X201 & 10,000 20,000 10,000
== 2,857
Al 7,143
03 2IZHAETAIHHI 10,000 20,000 10,000
OEtA IS HeHM AMAIE XA
10,000,000 14 10,000
S 2,857
Al 7,143
=AY X 1,781,816 1,484,587 297,229
2 677,934
& 203,1%6
Al 900,726
SSAHEIHDI 70,716 163,233 AG2,517
= 35,733
< 10,495
Al 24,488
101 e124d| 65,884 162,005 86,121
= 33,317
=S 9,770
Al 22,797
04 JIZtN2 2N S 2+ 65,884 162,005 86,121
Ot HI0I 20 A =& EH3H)
65,134,000 65,134
= 32,567
= 9,770
Al 22,797
OLHHI0I20H A =& E W=
750,000 750
= 750
201 et 3| 4,532 10,528 A5,99%
= 2,266




2A:

X XH -
o=

St =R I (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 680
Al 1,586
01 At2tltl 3,382 7,128 A3,746
O4RE A (&3, JIHSE )
3,382,000& 3,382
= 1,691
== 507
Al 1,184
2 5234l 1,150 3,400 N2,250
OAlZEHl RFBIOIHE S) 850,000 850
= 425
< 128
Al 297
O=ItJ| M52 LTS 2=
300,000 300
= 150
S 45
Al 106
202 04l 300 700 A400
= 150
= 45
Al 106
01 SLHoIH 300 700 2400
OLEBI0IQA =& &5 K= 0]
300,000 300
= 150
< 45
Al 105
M=) 1,284,402 902,554 381,848
= 642,201
[ 192,661
Al 449,540
401 Al HIZL 201 1,284,402 902,554 381,848
= 642,201
== 192,661
Al 449,540
01 Al&HI 1,199,202 843,954 365,248
OUBILIR J43D1(40na) 64,026
= 32,013
= 9,604
Al 22,409
OZE X JH2I1(700ha) 1,135,176
= 567,588
= 170,277




2A:
X XH -
o e

=aak

SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
Al 397,311
02 Zeldl 84,000 57,500 26,500
O=ItRIIALY 22|81 (740ha) 84,000
= 42,000
& 12,600
Al 29,400
03 Al SR CHYI 1,200 1,100 100
SOt RIIAIY AlA 2O 1,200
= 600
& 180
Al 420
HEZMAALS 203,698 150,000 53,698
101 @124 4| 188,698 136,000 52,698
M II2tH22HSE* 188,698 136,000 52,698
OHGZMAZ L 2124H|
188,698,000 188,698
201 Let2| 4,500 3,500 1,000
02 E324Hl 4,500 3,500 1,000
O&dl |RFU & =2ld| 4,500,000 4,500
206 M= 4l 10,500 10,500
01 =l 10,500 10,500
OHEZMA &M & 7 10,500,000 10,500
SHESIAE Xl AL 220,000 201,000 19,000
401 AlEHIZ 20| 220,000 201,000 19,000
01 Al&HI 219,500 200,000 19,500
OXNZESEE HAX SIHALS
219,500,000& 219,500
03 AIE S CHHI 500 1,000 A500
OXSEsEE HAXI SMAISE AlZ 2018
500,000 500
NEEs X sl 3,000 0 3,000
206 =4l 3,000 3,000
01 M=l 3,000 3,000
OnZE DE=s U2 7Y
30,0002 *100£ 3,000
A TR 22 3,860,420 3,313,150 547,270
& 2,035,000
Al 1,825,420
AMEAIEF=E KA 5,220 5,200 20
201 L2 | 1,220 1,200 20
01 AtR2telt] 1,220 1,200 20
OaRIZaS =7 S
8,000 6 * 154! 720




SH: ARAST
M NRITE 84
Che: A2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAl=&0F BH Egtl 500,000 12 500
202 04l 4,000 4,000
01 =LHOHI 4,000 4,000
OuEAI A=A X3
20, 00021 +4% +30 2,400
OMIANEE T8 (RSR)
20,0002 18 +80& 1,600
NLHA ZEAS (HEAIY) 3,700,000 800,000 2,900,000
= 2,035,000
Al 1,665,000
401 AlZHIZ S 0HbI 3,700,000 800,000 2,900,000
= 2,035,000
Al 1,665,000
01 AlZH| 3,642,500 781,760 2,860,740
O ot SHEE TAAIS (XS
3,642,500,000& 3,642,500
== 2,008,375
Al 1,639,125
02 Zeltl 55,000 14,240 40,760
QU A SHER LAY 22l (HE)
55,000,000& 55,000
= 30,250
Al 24,750
03 AIZSTHYI 2,500 4,000 21,500
OBNA SR LAY AIESOHI(A
&) 2,500,000 2,500
< 1,375
Al 1,125
HEHEE =4 150,000 0 150,000
207 ARl 150,000 0 150,000
01 H1E4H] 150,000 0 150,000
OZdSd dEHEE =4 JI2HE 84
150,000,000 150,000
TS TARMESE 2 5,200 0 5,200
201 fer= 3| 200 0 200
01 At 2|l 200 0 200
O734 TAIMESE 0El0l=0IAE FJI
M =3 200,000 200
401 Al HIZL 201 5,000 0 5,000
01 Al&H| 5,000 0 5,000
OANdE 2= 5,000,000& 5,000
dEggel JgXE 16,230 17,070 AB40
= 1,782
Al 14,448
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2,080

72
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MEE
Ofl &k2h

49,385

44,000

5,385

639,891

639,891

639,891

39,532

20,080

4,080

16,000

Ofl &F2H

m

277,058
83,118

W

Al

332,470
49,392

fir

19,757

5,927
23,708
44,007
24,007

iy

Al

9,603
2,881
11,523
20,000

fir

H

Al

8,000
2,400
9,600
5,385
5,385

fir

H

Al

2,154

fir
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2,585

692,311

H
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fir
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fir
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SH: ARAST
T NE MED 2
Rl MEYXITHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 3,460 3,400 60
= 1,384
== 623
Al 1,453
01 =LHO LI 3,460 3,400 60
Ott=2 8 stESH| 3,460
= 1,384
=S 623
Al 1,453
206 M=Hl 15,600 13,652 1,948
= 6,240
=S 2,808
Al 6,552
01 M=8l 15,600 13,652 1,948
OMRIX A (SEEEZ 32H) 15,600
= 6.240
= 2,808
Al 6,552
405 AtatE = 2,400 2,400 0
= 960
= 432
Al 1,008
01 MM ESFSHI 2,400 2,400 0
OFUESAIIIHM(3H) 2,400
= 960
= 432
Al 1,008
AKX CHEH(RH2) 166,560 72,500 94,060
= 66,624
= 29,981
Al 69,955
201 Ler=23| 11,700 11,700 0
= 4,680
< 2,106
Al 4,914
2 352484l 11,700 11,700 0
Ot E2TAIAY SIS (480H)
11,700,000& 11,700
= 4,680
[ 2,106
Al 4,914
401 Al HIZ 2018 154,860 60,000 94,860
= 61,944
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SH: ARAST
Ha: M2 MEH 2F
Rl MEYXITHE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odt=dst & 02 22 =X 500
401 AIEHIX SO 280,000 280,000
01 Al&H| 280,000 280,000
OL=HZU LTSI |22
280,000,000 280,000
405 AtatE = 15,000 15,000
01 Tt =S F=HI 15,000 15,000
OLSEZULEISIHOHO 1A oo, H& 1
s g 15,000,000 15,000
At E S A 1,830,371 1,885,800 A\B5,429
= 1,077,297
< 172,217
Al 580,857
2URHASE Xl 1,157,550 1,244,245 A\86,695
= 738,166
s 105,815
Al 313,569
206 M=l 20,000 20,000 0
= 15,400
= 1,400
Al 3,200
01 M=4l 20,000 20,000 0
OALLEES 2R X 7L
20,000,000& 20,000
= 15,400
= 1,400
Al 3,200
401 Al HIZ R 0HbI 1,137,550 1,164,245 N\26,695
= 722,766
= 104,415
Al 310,369
01 Al&H| 1,085,550 1,062,245 26,69
OALSHASY LH A
835,550,000 835,550
= 644,226
= 57,275
Al 134,049
O2LRMEEE 280601 MA
200,000,000 200,000
== 40,000
Al 160,000
02 Zeltl 100,000 100,000 0
OLURMAEE Heles
100,000,000& 100,000




SH: ARAST
Ha: M2l MEH 2F
Rl MEHMHS M EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 77,000
=S 7,000
Al 16,000
03 Al 20HHI 2,000 2,000 0
OAIZ20HHI 2,000,000 2,000
= 1,540
=S 140
Al 320
2etgoE YXl 297,599 282,363 15,236
= 191,036
= 31,972
Al 74,591
206 M=H| 10,000 10,000 0
= 6,400
= 1,100
Al 2,500
01 M=4l 10,000 10,000 0
Odgeolis =M e 10,000,000 10,000
= 6,400
= 1,100
Al 2,500
401 AIZHIX S0HH 287,599 272,363 16,236
= 184,636
= 30,872
Al 72,001
01 Al&H| 286,599 271,363 15,236
OdetEsiE LMA 286,599,000 286,599
= 183,99
< 30,762
Al 71,841
03 Al 2 CHYI 1,000 1,000 0
OAI4 2THYI 1,000,000 1,000
= 640
< 110
Al 250
SZHUR s A 79,032 79,032
206 M=l 64,032 64,032
01 MZH| 64,032 64,032
OgUFHE =M A ME
4,032,000& 4,032
OgLFois g=2M %M &
60,000,000 60,000
402 QIF X201 & 15,000 15,000 0




2A:

A AEH 28
Rl MEHMHS M EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 15,000 15,000 0
OBLIRHE STUH AL
15,000,000& 15,000
ArETHGH Rl EDI(AHH SN S Z LN E) B & 194,790 182,440 12,350
= 97,3%
= 19,478
Al 77,917
101 @124H| 168,290 185,940 12,350
= 84,145
< 16,828
Al 67,317
M ORINZZ2NSE S 168,290 185,940 12,350
Oatd oS HZSMT ol2t|
168,290,000& 168,290
= 84,145
[ 16,828
Al 67,317
201 Ler23| 23,500 23,500 0
= 11,750
[ 2,350
Al 9,400
01 At2t2lt] 17,000 17,000 0
Oz gNe 28 (228 7Y S)
3,000,000& 3,000
= 1,500
S 300
Al 1,200
O0ZE LMt RANSAR 14,000,000& 14,000
= 7,000
== 1,400
Al 5,600
2 352484l 6,500 6,500 0
O Z ZHe &l Al
2,500,000& 2,500
= 1,250
[ 250
Al 1,000
OuZE M RF 4,000,000& 4,000
= 2,000
& 400
Al 1,600
202 04| 3,000 3,000 0
= 1,500
& 300




FA MEHAS
T NE ME 2
Rl MEHMHS M EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,200
01 2L AL 3,000 3,000 0
Odtedalis HIZLME X=0H
3,000,000& 3,000
= 1,500
= 300
Al 1,200
ArETHOH X2l EDI(AHH S S0 Z LRI E) A2 5,160 5,160 0
= 2,580
= 516
Al 2,064
405 AtatE = 5,160 5,160 0
= 2,580
= 516
Al 2,064
01 ML ESFSHI 5,160 5,160 0
Oo&tl Y 5,160,000& 5,160
= 2,580
< 516
Al 2,064
ZES FHOISHSE =4 29 91,240 87,560 3,680
= 45,620
[ 13,686
Al 31,934
101 @124H| 73,740 70,060 3,680
= 36,870
== 11,061
Al 25,809
M ORNZZ2NSE S 73,740 70,060 3,680
OALIRE ZEx RUH0IS &3 oA
Bl 73,740,000 73,740
= 36,870
s 11,061
Al 25,809
201 =3 17,500 17,500 0
= 8,750
=S 2,625
Al 6,125
01 AtR2t2|HI 15,000 15,000 0
OALSE 22 2H0IS S40d 2(
ABF 2 S) 1,000,000 1,000
= 500
= 150
Al 350
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M A ME 2F
[ BN g [ ECESEP L=l g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
QWA Sell2! ZH| AIZSUHI(HE)
1,800,000 1,800
= 900
Al 900
S4&2 FHI(HEAY) 320,000 140,000 180,000
== 170,000
Al 150,000
401 AIEHIZ SR 0HYI 320,000 140,000 180,000
[ 170,000
Al 150,000
01 Al&HI 318,200 139,200 179,000
OS&2 Ful(&eh 280,200,000 280,200
= 140,100
Al 140,100
OS¢Z FHl § AAEASAHI(HE)
18,000,000 18,000
s 9,000
Al 9,000
ot =2 af T4AIL
20,000,000 20,000
= 20,000
03 Al 20HHI 1,800 800 1,000
OS4tz Ul AIE2UEI(HEH)
1,800,000 1,800
= 900
Al 900
SHZ(SdZ) Azzel 90,891 76,373 14,518
101 @12A4H| 42,391 38,273 4,118
04 JIZtN2 2N S 2+ 42,391 38,273 4,118
OMEd Sz SBZFHI(EHIDI, gIEX 5
T 8) oAl 42,391
—JlEs 42,391,000 42,391
201 er23| 7,500 7,100 400
01 At2teltl 6,500 6,300 200
OA2E FL(HL, Oz &)
500,000 500
O=dlZ 2tUhx 28 6,000
—CIEX & ADE(MBAE )
2,000,000& 2,000
—oHiA 28 222 MR
4,000,000& 4,000
02 S3=gl 1,000 800 200
OAEEHIR X 1,000
—SSFUOIHS, =0l S)
500,000 500
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S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
—Z2JI7HIS(0FI, AUXE 85) RX2c
af 500,000 500
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
OS¢z = A= 8) 7
2,000,000& 2,000
401 AIEHIZ R 0HYI 39,000 29,000 10,000
01 Al&HI 39,000 29,000 10,000
OS&Z ALE 4] 9,000,000& 9,000
Onzd =2 H=x S A=2cl
30,000,000& 30,000
SMEMBIAZROI(ZLSAX AL (HEAY) 46,146 22,226 23,920
=S 23,073
Al 23,073
101 ©1AH| 46,146 22,226 23,920
< 23,073
Al 23,073
M ORINZZ2NSE S 46,146 22,226 23,920
O MBIAZRDI(Z2LSAXI AL 46,146
—QIHHI (42 & 46,146,000& 46,146
= 23,073
Al 23,073
254 2el 158,996 95,000 63,99
= 7,500
= 21,000
Al 130,49
25 il 168,99 95,000 63,99%
= 7,500
& 21,000
Al 130,49
206 M=l 1,000 1,000 0
= 250
Al 750
01 MZH| 1,000 1,000 0
OES= M Al 1,000,000& 1,000
= 250
Al 750
401 AIEHIZ SR OHYI 157,996 94,000 63,99
= 7,500
= 20,750
Al 129,746
01 AlZ8| 157,496 93,500 63,99
OES4 ZHlAY 78,500,000 78,500
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< 19,625
Al 58,875
OES4 oHEB2| MEIZEA
15,000,000 15,000
= 7,500
Al 7,500
Oz=25+ FHIAMY 4,000,000 4,000
[ 1,000
Al 3,000
O+ d5ed HHAL
50,000,000& 50,000
OmYSH S +272 Yo B
9,996,000 9,99%
03 Al 20HHI 500 500 0
234 ZHl AIZR0| 500,000 500
< 125
Al 375
MBS S 30,610 28,610 2,000
A 25 30,610 28,610 2,000
201 er2 3| 23,410 21,410 2,000
01 AtR2t2|HI 1,410 1,410 0
Odgt+=H| 1,410
—AEES BA0H(A) M
60,000+80H*22] 960
—&EES MEX M 150+3,0000H 450
2 s5=34l 22,000 20,000 2,000
O¢HXI0IE7 =X 0BEHl ¥ |Al2cll
22,000,000 22,000
202 04| 7,200 7,200
01 2L AL 7,200 7,200
ST 20,000-2Z 602 2,400
OMEEEYR EF(RLR)
20,0002 120! 4,800
MEHAS DAy 4,634,363 5,808,656 A1,174,293
= 1,171,090
= 700,000
[ 1,491,611
Al 1,271,662
AH THoH ol 2 1,529,957 2,893,965 1,364,008
= 957,256
s 197,827
Al 374,874
APZANE &y 1,278,513 2,655,750 1,377,237
= 852,959
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Sl A THoH o (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 182,777
Al 282,777
401 AIEHIZL 28I 1,278,513 2,655,750 A1,377,237
= 852,959
= 182,777
Al 282,777
01 Al&HI 1,254,513 2,612,000 21,357,487
OArZHEH (3 2) 733,000,000& 733,000
= 513,100
= 109,950
Al 109,950
OAHBEE (2km) 382,513,000& 362,513
= 267,759
= 57,377
Al 57,377
OAFXIANE (1ha) 79,000,000& 79,000
= 55,300
& 11,850
Al 11,850
O3ZH PAel A99-3 &A= &I A
60,000,000& 60,000
02 2eldl 21,000 35,750 A14,750
OAEE =4 2ieldl 16,000,000& 16,000
= 11,200
= 2,400
Al 2,400
OAHREH Zeldl 4,000,000& 4,000
= 2,800
= 600
Al 600
O/ERIAFE 22|l 1,000,000& 1,000
= 700
& 150
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03 AIE =2 CHHI 3,000 8,000 25,000
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& 150
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= 10,732
== 2,300
Al 2,300
401 AIEHIZ R 0HYI 15,332 15,340 A8
= 10,732
S 2,300
Al 2,300
01 A28l 16,332 15,340 A8
OAZEAI QIBHE 2 (4500 4)
9,900,000 9,900
= 6,930
= 1,485
Al 1,485
OAMEZEAIE HLEH(2H2) 5,432,000 5,432
= 3,802
= 815
Al 815
AZAIE FXI2tel 85,000 135,000 50,000
= 59,500
= 12,750
Al 12,750
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= 59,500
= 12,750
Al 12,750
01 Al&H| 85,000 135,000 50,000
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= 24,500
& 5,250
Al 5,250
OA e QM =X (100 4) 50,000,000 50,000
= 35,000
S 7,500
Al 7,500
ATHOH L Kbl SHOI(AAMER S 2ol 2 Et) 44,912 42,375 2,537
= 17,965
Al 26,947
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2l A THOH

M- Z8 . 2l(31H) - NRAY - B A SimE==t
= 15,565
Al 23,347
M IIRINZ2EXSEs 38,912 33,375 5,537
OAFAIER S ZH0fl 2 &+H(3H) 38,912,000 38,912
= 15,565
Al 23,347
201 Lt | 4,000 8,000 24,000
= 1,600
Al 2,400
01 At 22|l 2,000 6,000 24,000
OAAIEHBE NS E 29 A28 2
2,000,000& 2,000
= 800
Al 1,200
02 33=24H| 2,000 2,000 0
OLAIEIR E 02 E S=HI
2,000,000& 2,000
= 800
Al 1,200
206 M=4| 2,000 1,000 1,000
= 800
Al 1,200
01 M=l 2,000 1,000 1,000
2R (B, ot S) 2
2,000,000& 2,000
= 800
Al 1,200
AHER B Ol 106,200 45,500 60,700
= 16,100
Al 90,100
401 A& HILS0HY| 106,200 45,500 60,700
= 16,100
Al 90,100
01 Al&H 106,200 45,500 60,700
OMAEHZ LTI MEHTA U] (4604
&) 32,200,000 32,200
= 16,100
Al 16,100
OMAENFINI Bt 2
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OAPAFEIF XS oHLHE A X (220002 )
24,000,000& 24,000
SAA 2,464,590 2,163,613 300,977
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2T Al 1,000,000 875,714 124,286
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Al 240,000
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= 700,000
=S 60,000
Al 240,000
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[ 683,200
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02 Zeltl 20,000 14,000 6,000
Oz e ol 2 20,000,000 20,000
[ 14,000
= 1,200
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03 AlE S THYI 4,000 3,000 1,000
ZHHAYE AR 4,000,000 4,000
[ 2,800
= 240
Al 960
L AIEAIS (D EALY) 534,390 565,069 A20,679
== 390,105
Al 144,285
101 e124d| 21,390 20,600 790
= 16,615
Al 5,775
M ORIMZZ2NSE S 21,390 20,600 790
Ogaeld 2g 21,390,000 21,390
= 15,615
Al 5,775
401 Al HIZ S OHbI 513,000 533,069 220,089
=S 374,490
Al 138,510
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A = (2.0km) 245,500,000 245,500
[ 179,215
Al 66,285
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 64,162
402 2I2FX=01 & 131,470 258,933 127,463
= 59,948
= 7,360
Al 64,162
02 QI A2 AL E R (0IHTHE) 131,470 258,933 A127,463
O S YA ZH (14042)
57,870,000 57,870
= 23,148
Al 34,722
OuteS83IH(S2) 73,600,000 73,600
= 36,800
= 7,360
Al 29,440
ety atS T2l 2,450 2,520 AT0
= 1,715
Al 735
402 QI2F X201 & 2,450 2,520 AT0
= 1,715
Al 735
02 QI X2 AL E R (0IHTHE) 2,450 2,520 AT0
Olgd a2 MoH2el(11ha,39HA)
2,450,000& 2,450
= 1,715
Al 735
Rl P A Rl e 24,730 89,392 A\6B4,662
= 9,892
Al 14,838
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Al 14,838
02 QI X2 AL EE(0IETHE) 24,730 89,392 64,662
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= 9,892
Al 14,838
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= 109, 191
= 32,758
Al 131,028
402 I+ X=01 & 212,917 213,626 59,351
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= 32,758
Al 131,028
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< 1,200
Al 4,800
aursdSat A3 71,340 61,158 10,182
= 28,536
< 8,561
Al 34,243
402 QI+ X201 & 71,340 61,158 10,182
= 28,536
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= 28,536
== 8,561
Al 34,243
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OSdl gisEE 44 204,500 421 818
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OMBASAD XX
20,0002 x4 »74 5,920
Ot ASgR = (SRH)
20,0002 1~ 18 360
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